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REHAB QUIZ
. After a meniscus repair, your patient should a) Rhomboid major and sternocliedomastoid
be non-weight bearing for b) Rhomboid major and subscapularis
a) 7-10 days c) Pectoralis major and trapezius
b) 2-3 months d) Pectoralis major and corachobrachialis
c) 4-6 weeks
d) 1-2days 7. When the counter of the shoe fits too tightly
on a SACH foot, which of the following problems
. Posterior interosseous nerve syndrome stems can result?
from compression at a) Posterior lean of pylon
a) Arcade of Struthers b) Less compression of the heel
b) Arcade of Frohse ¢) Decrease in push-off resistance
¢) Lacertus fibrosis d) Decrease in external rotation of the foot
d) Ligament of Struthers
8. A 23-year-old, wrist disarticulation amputee
. If you can probe a foot ulcer and see bone, intends to return to work as a carpenter. Which
what is the likelihood of there being osteomyelitis? terminal device will offer the largest range of
a) 70% tool handling capabilities?
b) You cannot estimate from probing alone a) Dorrance 555
c) 100% b) Dorrance 7
d) 50% ¢) Dorrance 88X
d) Dorrance 12P
. The most frequent site of tendon rupture in
arheumatoid arthritis patient occurs where? 9. A unilateral transradial prosthetic patient
a) Long head of the biceps complains that the axilla loop of his harness
b) Supraspinatus is uncomfortable. The most common reason
¢) Lister tubercle for this complaint is that the cross point is
d) ECRB tendon a) Too close to the amputated side.
b) Too close to the sound side.
. Which of the following orthoses is designed ¢) Superior to C7.
to manage spondylolisthesis in an active d) Inferior to C7.
teenager?
a) LSO (Corset) 10. A transtibial amputee has an anatomical A-P
b) LSO (Knight) measurement of 95 mm (3-3/4). What is the
c) Jewitt correct A-P measurement of the positive model
d) LSO (Anterior Overlap) for a PTB hard socket?
a) 95 mm (3-3/4)
. Which of the following muscles would be MOST b) 97 mm (3-7/8)
suitable for myoelectric control of the elbow ¢) 101 mm (4)
joint by a shoulder disarticulation amputee? d) 103 mm (4-1/8)
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